~

Newington College Yr 11 Mathematics Ext 1

QUESTION ONE (13 Marks) Marks
()  Simplify: —3x* x4x? 1
(b)  Factorse @ x*—8x—9 14+2+2
i) 66X’ -54n°
(i) (x+A* -1
: 3 2
Smmplify: —— 3
©  Smplify: - aTa
- 5 3 -
(d) Solve forx: —4+-—=2 2
x 2x
© Ifs=%(u+v)z,ﬁndu. 2
OQUESTION TWO (13 Marks) Starta new page
(2) Write 0.00000725 mumber in scientific notation. 1
(b) Express 0- 257 as a fraction in lowest terms. 2.
© Solve the following pair of simultaneous eqiiations: 2
3x~y=5
5x+3y=-8
(d)  Express with a rational denominator:
14
6] = 242
NEl
y 3v2
(i) —_—_—
J5-+2
. X2 +2x
(e) Fx=+5-2 , find the value of —— —, expressing your answer with a 4
. X+
rational denominator.
Question Three on Page 2 ...
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Newington College Yr 11 Mathematics Ext 1

QUESTION THREE (70Marks) Start a new page

(@)  State the natural domain of each of the following functions:

O fE=—— ()  f)=+2x%3

x+2

®) Sketch each of the following, showing any intercepts with the axes,
asymptotes or vertices:

® y=v25-x2 (@ y=3"+2
¢ 1
(@)  y=—(x-2)7+3 @) y=—-

QUESTION FOUR (I2Marks) Start a new page

(2) @) Solve for x if ]zx - 5] =3
()  Solve for x if [8x~ 9 =5x

(b) By first factorizing the LHS, find the solution for 3x* —28x+25> 0

) ¥ f (x)= then f(0) equals:
1 .
-, x<D
X
@ Test if the function f(x) = 3 35 - is odd, even or neither
+x
(e Find the largest possible domain of x = —/4 — »?

END GF PAPER
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QUESTION ONE (13 Marks)

(a) Simplify: 3% x4x?
= ~12x°

®) Factorise ® xt —8x-9
= (x - 9Xx + 1)

() 6x° -54x>
§x(x2 —9y? )
= 6x(x—3yXx+3y)

(@) (e+h) -1
= (x+h) (1)

YT 11 Mathematics Ext 1

[+ 1) =1l + B + (e )+ 22

-

(gc+h—1)(x2 +2xh+ A2 +x+h+l)

o 3 2
© Sty T
_ 3 2
(k=2 +2) (k—2)k—=1)
3(k—1)-2(k +2)
(k- 2)k+2)k -1)
_ k-7
(ke =2k +2)k~1)
(d) Solve for x: é+i=2
x 2x
.12.+_?i.‘;-4_x 4x =13 x=—1—3 Jc=3l
2x 2x 2x 4 4
(e Ifs%(uw):,ﬁndu.
2s
25':(u+v)t T=(u+v) U=—-—vy
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QUESTION TWO (13 Marks) Start 2 new page

@

®

é

©

(@)

(&)

WhiEerz, 4

Write 0.00000725 number in scientific notation.
= 7.25x107

Express 0- 257 as a fraction in lowest terms.
10%0-257 =2.575757...
1000x0-257 = 257.5757....

990%0-257=255  (.957.255_17
990 66

Solve the following pair of simultaneous equations:

3x-y=5 @)

Sx+3y=-8 (i) 3[1)—)1:5

9x-3y =15 (0)x3 @]—5

l4x =7 add

w=t ‘ it
2 =3

Express with a rational denominator:
. 14 i
O M. 141 147 _ o7

V1oiE T
@ 2 3al5n)

Yr 1| Mathematics Ext 1
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2
If x=4/5- 2, find the valie of = ix , EXpressing your answer with a 4 (
+

X
rational denominator.

(5-2)"r 2(75-2)
Cy’s’-—a>1—3
- S-wsTY r275-% i
T/Mm&l(jr
= S-208 MED
NN D)
SY5 -5 ~101275.
= =
—_ 15
= 7_‘71"__‘5;/___,‘_D

y
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Question Three on Page 2 ...
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(@ y=—(-2f+3
)’f‘ y sk 72 e =
z/féeg{.&zzz*a y=3

wenkip m F
( b =~ (x-2)’r3
r-r = 75
_.z.)..}"
j Mtrad z=0
S =2 s
= =453
=2
G ok Lo =

e S P:\“Q.\::o\q
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OQUESTION THREE (I0Marks) Start a new page

(a) State the natural domain of each of the following functions:

AOOUOOLLIVILL L v

Marks
2
f(x)=+2x+3
,72'*3’:}/-9
73
a() =g T

:(a) T @) Solvefor x if [2x 5[

T e G e rres
anch b—\n-‘re.rc:a_ﬁl» -l
N rrark dedostred /
for meaTrect -:;-\H\QA‘CQ.F\S
T e - \r\"er'CRFJ‘—S

NS NS

A

@ y=—g-l n
x—4 ,
/»j ! !
l
i
I
! ES
X 4
} f
— - - -- - —_— - } - — —
. N {
\ _}%’ ;
|
se-prtie /;—,’:};/
J=e “)ﬁy -/ ’J— -/
=
*‘/y:z'ef /;’/
g_ s
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QUESTION FOUR (12Marks) Start a new'bage

Lither 2Lx-5 =3 %‘/&sj',?
2xry 2¥-5 -2
> =y 2T F2

—_—

=/

o
()  Solvefor » if Bx-9=5x —

“sx-q-57 ~(27-5) =S
32 =9 Fx-9 =7%x
9{ &3 132 =4

o = 4 '
ook g[,), . = M z 1’5 AN \
‘ ,ﬂ/s’/-gﬁ') gg})/") \5\*4 )

(b): By first factonzmg the LHS, find the solution for 3x2 -28x+25>0 2
(2% —29(= — 1) >p

25"
SNE a <) A 77?

%f-
§
.

then £(0) equals: 2

- ,x<0

. . .- = XF/ /) /
.o //p) oH
(d) "Test 1f the function ¥(x) =
. : 3+x2

Joori

is odd, even or neither ‘ 2

X ”é*ra

Bt
L e
= 3% » (
3 4x2 . D F VZ/% . .
(¢) . Find the largest poss1ble domain of x = ~/4 — y? _ 2
za:m&)‘ . . l ;
. el Bt H=- A
#l= ey P D
(2440 % = L . 2ex €0
* 7 v_y . o o —
cirole /‘,}yf z. ‘
Cewtrt AU = ,
2 :
. e :
END OF PAPER
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